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Time: 3 hrs. :::' Max. Marks:100

-""-Note: Answeraz&M full questions. m'
"';I a. Findyatx= 1.02, givendy=(xy.:Q d"andy=2atx= l applpngTaylor's series method

(considering terms upto fourth dege.g). "*; ', (07 Marks)

dvjb. Use Picard's method to obtaffiisecond approximate"sofution. Given I' = x - / with
s \- dx

y(0) = 1 and compute y(0-l).cbnect to four decimal places. (07 Marks)y(0) = 1 and compute y(Q=l).c rect to four decimal places. (07 Marks)

c. Solve + : 3* + *+' y(0) : I and o., #j6i using modified Euler's method atdxL
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x = 0.1. (Perfonr+fu& iterations). (06 Marks)
.:1..

I't$s$l1*tr&is

:1*'"r dx
iu rn tnoA of fourth "@[ ,olr. 91= y - t, += x * t given x(02 a. Use Rungg&*Kutta method of fourth offS:flto solve J= y -t, += x + t given x(0): 1 ,dt dt

y(0) =- l. Compute x(0.I ) and y(0._1). 
"b. ApplryFicard's method to obtain thq'third approximation to the solution of

y(o) 
=

te x(0. I ) and y(0.1). (07 Marks)

q;;"14 + 3x *-6y:0. GiventhatwhenX=0,y;F_lt*#*:0.1. 4- (07Marks)

't *= iglrgr and v(o) : o ,c. Employ Milne's meth0..d*ro compute *0,*%,G*i#b,n thr dx, ,,_ , 
dx

y(0.2)=0.02 ,d y(0.4)=0.0795 , $(&S=0.1762,. :0 , y'(0.2):0.1996 ,y(0.2)=0.02 ,.{ y(0.4)=0.0795 , ffkGfl=0.1762, yi(Q):0 , y'(0.2):0.1996 ,

y(0.4) = 0.3931*]5'(0.6; = 0.5689.* ',YP ,ffi\ (06Marks)

3 a. Define nnaf#ffiunction and derive Cauchy Riemanq equations in polar form. (07 Marks)

b. Construpj tt$ analytic functioeqyhffi real part is e4ft;oos 2y - y sin 2y). (07 Marks)

c. rru anaTLe harmonic t octions, show that f+-+].,f+.+li, urutyi.. (06tr{arks)
. :t \ay ax) [ax * )

"1 ',""I,."

a=-FjndtheBilineartraas.fufinationwhichue,apsz=@,i,0intow=-1,-i,landalsofindthe
;'-.r:,,,:,'ilyuliunt points.,,U* r jF (07 Marks)
b. Discuss the transformation w = z'. (07 Marks)
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c. Evaluate-l-ri dz,ffifcisthecircle lzl=3. (06Marks)

J. (z+1)(z-2) ' *"
c\

,*.. '- ':, -

a. Find the value of J,, (x) and J ,, (x). (07 Marks)
/zr: )/z

b. Obtain the solution of LUlendre's differential equation

tr - *'l* -@;n(n +1)y = 0. (07 Marks)dx- ox
c. Express x3 +.ffi-4x + 5 in terms of Legendre polynomials. (06 Marks)
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State and prove Baye's theorem of probability. , ) (07 Marks)

IfAand B are eventswithP(A) : +, P(B) : -, P(A^B) : -J-, find P(AuB), (AnB),
4 ' -\-/ 

^5'-' 
20

11[ n n ) , P(A I B). .:,,i, i: (07 Marks)

An office has 4 secretaries handling respectffiy 20o/o, 6A0 , 15%,*57.9 of the files of all
govemment reports. The probability thaLtltey.misfrte such reports afffiCpectively 0.05, 0.1,

O.t and 0.05. Find the probability tEffihe misfiled report carn$.blamed on the first

secretary. ..xq* ., s (06 Marks)

c.

a.

:lt!lhe/

tS- ":::: *"

The probability distribution ofi random variable X.is;Sven by the following table :

Determine the value g{3. * < l) , P(x > 1) , P(?l.-ffi 2). (07 Marks)

b. Obtain the mean andkdi,iance of Poisson distribffih. (06 Marks)Brrg q:?i+4.9r

c. The marks of 1@..&;$tudents in an examrlation follows a normal distribution with mean

70 and standar@Ev,ffition 5. Find the numb,diof students whose marks will be

i) less than 65 i$ more than 75 iii) ,bqitaen 65 and 75.i) less than*65.- ffi' more than 75 iii) en 65 and 75.

Givenr:.q[$. z<l)=0.3413. 
* .'""",,(u (o7Marks)

a. Expke the terms r) Null hyp&sis ii) fy61,{,and Type II errors

b. A group of 10 boys fed on a djetr\ and another HFo Pf 8 boys fed or$4 different diet B for
a period of 6 months reco4pdthe followirg *

regarding ffect on increase in weight.

c. A die is thrqffi&?64
fr equency disii'ibut ion.

,=*diM

and :,#ryer appeanns;

x ..{
-2

3 4" 6

fr' F-1F 32 28 5&: 54 60

" (07 Marks)

on*fhe face follows the following

(06 Marks)
I ^{ f

cal@idthe value of 12#&6
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